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Test 1 MA 125-6A September 11, 2013

Name: ‘«&X Signature:

SHOW ALL YOUR WORK!

If you have time, find a way to check your answers.

Part 1

1. {7 points] Evaluate lirr(1) —4—i—s§;2 _____§______.
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2. [7 points] Given that lim f(u) = —7 and li_r+n g(u§ = —6, find
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3. [7 points] Use the definition of continuity to evaluate [note that your answer must be a number]

lirr(l) sin(s + sin(s))
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4. {7 poiuts] Evaluate  lim ____Sin(ﬁw)
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6. 7 points| Determine the z-values where the following function f(z) =
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1. {12 points! Evaluate lim
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!,5 (b) Find all horizontal asymptotes (if any)
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Given the following graph:
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(a) Find all vertical asymptotes (if any):

(if any):

{(b) Find all horizontal asymptotes
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4. 13 points] Consider the function

F(z) = z+1 forz <4
Tl 21—2% forz>4
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5. [17 points] Given the function f(z) = =
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(b) the z and y intercepts, if any.
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